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Review Lesson 1: When Right Triangles Show Up on TnReady Geometry – Right Triangle Properties
TnReady Selection Style: Multiple Selection of True Facts
Select all responses which are true about any right triangle. ( all = more than 1 correct answer )

	1.(
	Its acute angles add to 180(.

	2.(
	Its acute angles add to 90(.

	3.(
	It is the triangle which uses the Pythagorean Theorem.

	4.(
	Its legs meet at one of its acute angles.

	5.(
	Its legs meet at the right angle.

	6.(
	Its legs can never be congruent.

	7.(
	The hypotenuse is across from its right angle.

	8.(
	The formula for the area of a right triangle is bh.

	9.(
	If it’s a 45, 45 ,90 right triangle, its corresponding ratios are x, x, x[image: image2.png]


.

	10.(
	If it’s a 30, 60 ,90 right triangle, its corresponding ratios are x, x[image: image4.png]


, 2x.

	11.(
	Right triangles are never used in trigonometry.

	12.(
	The hypotenuse is labeled as c in trigonometry.

	13.(
	The hypotenuse is labeled as h in trigonometry.

	14.(
	The formula for the sine of an acute triangle is sin ( = [image: image6.png]


.

	15.(
	The formula for the cosine of an acute triangle is cos ( = [image: image8.png]





It is important to practice memorizing formulas. There is practically no formula help on the TnReady Math Reference Sheet. So, practicing on memorizing formulas and practicing on solving problems using those formulas is what will help you learn them.

Formula Match

Match the formulas on the right with their names on the left. Some may be used more than once. Some may not be used.

	___ 1. Pythagorean Theorem equation.
	a. right angle

	___ 2. The sum of the acute angles of a right triangle.
	b. [image: image10.png]Opposite
adiacent





	___ 3. The ratios of a 45, 45, 90 right triangle.
	c. acute angle

	___ 4. The ratios of a 30, 60, 90 right triangle.
	d. A= ½ bh or A = [image: image12.png]




	___ 5. The ratio for sine.
	e. 360(

	___ 6. The ratio for cosine.
	f. x, x[image: image14.png]V3



, 2x

	___ 7. The ratio for tangent.
	h. a2 + b2 = c2

	___ 8. The formula for the area of a right triangle.
	i. [image: image16.png]_Opposite
Byporenuse





	___ 9. Where the legs (a & b) meet in a right triangle.
	j. 12

	___ 10. The hypotenuse is across from this angle.
	k. x, x, x[image: image18.png]




	___ 11. The simplified radical for [image: image20.png]


 is:
	l. [image: image22.png]




	___ 12. The simplified radical for [image: image24.png]10



 is:
	m. [image: image26.png]Acjacent
hyporenuss





	___ 13. All of the angles of a right triangle add to this.
	n. 2[image: image28.png]




	
	o. 180(

	
	p. 6[image: image30.png]




	
	q. 90(

	
	r. 10[image: image32.png]





[image: image36.png]V72



READ ALL INSTRUCTIONS AND PROBLEMS. SHOW YOUR WORK!
The Pythagorean Theorem and Simplifying Radicals.

[image: image37.png]V72




 Both legs a & b meet at the right angle.


[image: image38.png]



[image: image39.png]



[image: image40.png]


Apply the Pythagorean Theorem to solve these 3 right triangles. Show all answers in simplified radical form.
[image: image41.png]



[image: image42.png]
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1. 




2.




3.  
[image: image44.wmf]3
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[image: image45.png]43




Side ratios are associated with special right triangles. You can determine all of the sides if you know critical angles.
[image: image46.png]43



[image: image47.png]


Memorize the ratios associated with these special right triangles.  
[image: image48.png]




          Isosceles Rt Triangle
[image: image49.png]43
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Solve for x & y in simplest radical form.
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[image: image56.png]33



4. 




5. 




6.

The sum of the angles of any right triangle adds to 180(. A right triangle has a shortcut; the two acute angles add to 90(. Solve for x and both acute angles in each right triangle.







It may happen when an inscribed angle inscribes a semicircle.
[image: image57.wmf]2

7

[image: image58.png]


7. 



8. 


9. Segment AC is a diameter.
[image: image59.png]



 

t = ____ m(B = ____  m(C = ____  


[image: image60.png]









[image: image61.png]


The area of a right triangle is A= ½ bh or A = [image: image35.png]


 where b is the length of the triangle base and h is its height (altitude). For a right triangle, the two legs which meet at the right angle are the base and height.  The volume of a prism with a polygon base is V= Bh, where B is the area of the base which is a right  triangle here. At times, you may have to use the Pythagorean theorem to solve for the height of the prism or a side of the base.
10. Calculate the area of the

11. Calculate the area of the base of the right
right triangle. 



triangular prism and its volume.
[image: image62.png]






      A = _______ units2 

B = _______  cm2   V = _______ cm3
[image: image63.png]



12. The formula for the volume of a pyramid is V = 1/3 Bh. Use the
Pythagorean Theorem to calculate the leg of the right triangle base, 

before calculating the volume. Remember to use the area formula for a
triangle to calculate B.
If you know one acute angle and one side of any right triangle, you can use trig ratios to solve for the other two sides. We use the memory device SohCahToa to remember how to label a right triangle by identifying the opposite and adjacent sides from the acute angle plus the hypotenuse. Similar right triangles have the same ratios for corresponding sides no matter what the scale factor is.
The labeling of O, A and H  
    Now, label it if we were  
Now, use SohCahToa to write the trig ratio 
of (ABC for (B is:

    choosing (A.


formulas, then the ratios for (A and (B 
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    3                 5          

     3                 5 
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When solving any right triangle using trig, always identify the acute angle and label all 3 sides. Then look at what you know and what you need to know to pick out the right trig ratio to solve the problem.
13. Solve for PQ and PR to the nearest tenth

14. A contractor is building a wheelchair ramp for a
using the proper trig ratios. You may need to

doorway that is 1.6 feet above the ground. To meet
know how to cross multiply to solve each

ADA guidelines, the ramp must make an angle of 4.8(
trig equation.





with the ground. To the nearest hundredth of a foot,







what is the horizontal distance covered by the ramp?
[image: image77.png]2
a +b=c



[image: image78.emf]PQ = _______     PR = _______     
[image: image79.emf]
  � QUOTE � ���			1) Begin dividing by primes 


 /     \			  i.e. 2, 3, 5, 7, 11, …


2      36			


       /   \		2) Pair matching factors


      2    18


           /  \		3) Matched factors go outside


          2    9		  the radical.


               /  \		4) Unmatched factors stay


             3    3		  inside the radical.
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� EMBED Equation.3 ���
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1) Label the triangle creating our own variable x.





2) Pick the equation you can solve for your x.





3) Substitute to calculate any side.





x = � QUOTE � ���


y = x� QUOTE � ���= � QUOTE � ��� ( � QUOTE � ���= 4 ( 3 = 12


x = 2x = 2 ( � QUOTE � ���= � QUOTE � ���
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� EMBED Equation.3 ���
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sine = � QUOTE � ���       sin A = � QUOTE � ���    sin B = � QUOTE � ���	





cosine = � QUOTE � ���     cos A = � QUOTE � ���    cos B = � QUOTE � ���





tangent = � QUOTE � ���    tan A = � QUOTE � ���    tan B = � QUOTE � ���	
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(b) Find YZ.

(c) Find AB.
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[image: image88.png]Example 5: A contractor is building a wheelchair ramp for a
doorway that is 1.6 ft above the ground. To meet ADA
guidelines, the ramp will make an angle of 4.8 with the

ground. To the nearest hundredth of a foot, what is the
horizontal distance covered by the ramp?
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